Answers to Selected Exercises AA109
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51. The encoded message is 27, —19, 32, —20.; The decoded message is 8,5, 12,16 or HELP.

52. The encoded message is 33, —21, 83, —61.; The decoded message is 12, 15,22, 5 or LOVE.
53. The encoded message is 14, 85, —33, 4, 18, —7, —18, 19, —9.

54. The encoded message is —1, 59, —20, 25, 121, —48, —7, 39, —17. =
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79. does not make sense 80. makes sense 81. makes sense 82. does not make sense 83. false 84. true 85. false 86. false
87. false 88. false 90. A 9. a=30ra= -2 93. 2 94. 6 95. -31

Section 9.5

Check Point Exercises
La -4 b -17 2{4-2} 3.8 4 -24 5{2,-3,4} 6 —25

Exercise Set 9.5
L1l Sotg sl 98 & 47 S Te—D 9 B2 D —% 10.% 1L {5,2) 12 {2 -1)}
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13.4(2,=3)} 14. {(-1,-3)} 15 {3, =1)} 16. {(—1, ;)} 17. The system is dependent. 18. {(4, 5)} 19. {(4,2)}

20. {(=2,-1)} 21 {(7.4)} 22.{(1,-2)} 23. Thesystemisinconsistent.  24.The system is dependent.

25. The system is dependent. 26. The system is inconsistent. 27. 72 28. 28 2995 30. —76 3.0 32,20
3. (=527 {(=234)) = 351234 " 36 {235 3L IB=12)1 -3 =132} 39 {23, 19}
40. {(0,4,2)} 41. —200 42.78 43.195 44.48 45 —42  46. —407 47 2x—4y=83x+5y=—10

48. 2x — 3y =8;5x + 6y = 11 49, =11 50. 26 51 4 52.3 53. 28 sq units 54. 26 sq units 55. yes 56. yes

57. The equation of the lineis y = —1?1.: + g 58. The equation of the lineis y = %x + 13—0

J
68. —2100 69. 13,200 70. Gauss-Jordan elimination 71. does not make sense 72. does not make sense 73. does not make sense
74. does not make sense 752 o b. & c. a* d. Each determinant has zeros below the main diagonal and a’s everywhere else.
e. Each determinant equals a raised to the power equal to the order of the determinant. 76. 48 77. The sign of the value is changed when

b, — b P

2 columns are interchanged in a 2nd order determinant. 78. For both systems, x = St nd y= S oEL

aib; — b, a1by — azb,

o N=Y_ , X~ Xy ¥ X1y = Xy

7. |x;, y1 1=2x(y; — y2) — y(x1 — x5) + (x1y; — x2y1) = 0; solving for y,y = xi = xzx e IY; = rz Landm = ﬁandb = ﬁ
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AA110 Answers to Selected Exercises

81. a. —3and3 b. —2and2 82—t — 83. (x — 1)® + (y + 2)* = 9; center: (1, —2); radius: 3;
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Chapter 9 Review Exercises
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6. 2. a=-2;b=32;c =42 b. 2:00 p.m.; 170 parts per million 7. capitalist: 1%; upper middle: 15%; lower middle: 34%; working: 30%
8.0 9 {(xtar+i) 10 {3216, -Tr+10)) - 1T £ 18, =3 —7,1)}
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The effect is a reflection The effect is a 90° counterclockwise The effect is a horizontal stretch
over the y-axis rotation about the origin by a factor of 2.
=27 150 . 2 g D 30 -2
37. AB = BA = B+ A 38. AB=1;;BA=I3;B=A 39. 40. 555 416 1 4
G55 =55 2
13550 1508 =1
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2.0-3 2 -1 $.a./0 1 3|y|l=]|-2 b. {(-18,79,—27)} 44.a. |0 1 -1|y|=|-5
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b. {(4,-2,3)} 45, The encoded message is 96, 135, 46, 63; The decoded message is 18,21,12,5 or RULE. 46. 17 47. 4
48 -8 4 -2% .4 5L16 8 {(Z— —%)} 53, {2,-T)} 54 {(23,-12,3)} S5 {(-3,2,1)}

56. a = g; b = —50; ¢ = 1150; 30- and 50-year-olds are involved in an average of 212.5 automobile accidents per day.

Chapter 9 Test )
1 5.9 = 5455 i)
1 {(—3,5,1)} 2. {t,t-1,1)} 3. [1 11] 4. i j 5. oy 6. [_5 4] 7..AB=I,;BA=1,
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